



Name: _____

Datum: _____ Ergebnis: _____

$$4^{(-2)} - (-7) =$$

$$8^{(-2)} + (-1) =$$

$$(-4)^0 + 5 =$$

$$5^{(-1)} + (-8) =$$

$$5^2 + 2 =$$

$$(-6) - (-1) =$$

$$(-1)^2 - (-5) =$$

$$9^2 + 5 =$$

$$7^2 - (-1) =$$

$$(-6)^{(-2)} + (-6) =$$

$$8^2 + (-3) =$$

$$(-3)^{(-1)} + (-10) =$$

$$8^2 - 3 =$$

$$8 + 2 =$$

$$6^{(-1)} - (-2) =$$

$$(-8)^2 + 10 =$$

$$(-2)^{(-1)} + (-4) =$$

$$(-3)^2 + 10 =$$

$$(-8)^{(-2)} + 8 =$$

$$(-10)^2 - (-7) =$$



Name: _____

Datum: _____ Ergebnis: _____

$$4^{(-2)} - (-7) = \frac{113}{16} = 7\frac{1}{16}$$

$$8^{(-2)} + (-1) = \left(-\frac{63}{64}\right)$$

$$(-4)^0 + 5 = 6$$

$$5^{(-1)} + (-8) = \left(-\frac{39}{5}\right) = \left(-7\frac{4}{5}\right)$$

$$5^2 + 2 = 27$$

$$(-6) - (-1) = (-5)$$

$$(-1)^2 - (-5) = 6$$

$$9^2 + 5 = 86$$

$$7^2 - (-1) = 50$$

$$(-6)^{(-2)} + (-6) = \left(-\frac{215}{36}\right) = \left(-5\frac{35}{36}\right)$$

$$8^2 + (-3) = 61$$

$$(-3)^{(-1)} + (-10) = \left(-\frac{31}{3}\right) = \left(-10\frac{1}{3}\right)$$

$$8^2 - 3 = 61$$

$$8 + 2 = 10$$

$$6^{(-1)} - (-2) = \frac{13}{6} = 2\frac{1}{6}$$

$$(-8)^2 + 10 = 74$$

$$(-2)^{(-1)} + (-4) = \left(-\frac{9}{2}\right) = \left(-4\frac{1}{2}\right)$$

$$(-3)^2 + 10 = 19$$

$$(-8)^{(-2)} + 8 = \frac{513}{64} = 8\frac{1}{64}$$

$$(-10)^2 - (-7) = 107$$